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GCE MATHEMATICS FP1 977-01

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 556 5.6 2 7 79.8 98.9

2 547 4.2 1.3 5 83.2 97.3

3 556 7.2 2 9 80.4 98.9

4 559 8.8 2.1 10 87.8 99.5

5 541 2.6 2.2 5 52.2 96.3

6 559 4.8 1.8 6 79.6 99.5

7 555 5.1 2.7 8 63.7 98.8

8 550 5.2 2 8 65.1 97.9

9 538 4.2 2.9 8 53.1 95.7

10 518 3.6 2.8 9 39.9 92.2
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Sticky Note

This candidate appears to believe that the formulae for sigma r and 
sigma r^2 can be used even when these terms are in the denominator.
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Sticky Note

This candidate made a serious arithmetic error.
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Sticky Note

This candidate is attempting to use the formula for sigma r even though the r is in the denominator.
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Sticky Note

This candidates adds A instead of multiplying by A to go from A^k to 
A^(k+1).
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Sticky Note

This candidate is on the right track but fails to see the link between (a) and (b).
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Sticky Note

This candidate makes the problem more difficult by replacing A by its 2X2 form and therefore makes minimal progress.
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Sticky Note

This candidate's algebra lets him down eventually
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Sticky Note

This candidate makes a serious algebraic error at this point.
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Sticky Note

This candidate's first step is incorrect.
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                        |z + 3| = k|z – i|  


                  Putting z = x + iy, 
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         (which is the equation of the circle.) 


Rewriting the equation in he form 
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Completing the square, 
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                            6x + 2y + 8 = 0 


 


   It is the perpendicular bisector of the line joining 


the points  (– 3,0) and (0,1) 
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Award full credit for the use of 


the standard result for the 


coordinates of the centre 
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Canol y cylch
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